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1. A cow is tethered in the middle of a field with a 14 feet long rope. If 
the cow grazes 100 sq feet per day approximately. What time will be 
taken by the cow to graze the graze able area of the field? 

(a) 2 days 
(b) 18 days 
(c) 24 days 
(d) 6 days 
(e) None of these 

2.Mr. Rahul spends 30% of his monthly salary on domestic expenses. He 
spends respectively 20% and 10% of the remaining salary on education of 
children and conveyance. Of the remaining amounts now he spends 
respectively 20% and 30% on entertainment and maintenance of house. 
He saves Rs. 5512.50.what is the monthly salary of Mr. Rahul? 

(a) Rs. 22,500 
(b) Rs. 20,000 
(c) Rs. 25,000 
(d) Rs. 24,500 
(e) None of these 

3.The ratio of the present ages of Vijetha and Priya is 5: 7 respectively. 
Four years later the ratio will become 3 : 4 respectively. What is the 
present age of Priya in years? 

(a) 28 
(b) 24 

(c) 20 
(d) 21 
(e) None of these 



4.The LCM of two numbers is 2079 and their HCF is 27.If one of the 

numbers is 189, find the other number. 
(a) 248 
(b) 128 

(c) 297 
(d) 336 
(e) None of these 

5.A circle and a rectangle have the same perimeter. The sides of the 
rectangle are 18 cm and 26 cm. What will be the area of the circle? 

(a) 88 cm2 
(b) 1250 cm2 
(c) 154 cm2 
(d) 128 cm2 
(e) None of these 

6. Some toys were distributed equally among 18 children in such a way 
that the number of toys each child gets is equal to the total number of 
children and after distribution 6 toys are left out. What was the total 
number of toys? 

(a) 324 
(b) 330 
(c) 336 
(d) 320 
(e) None of these 

7.Beena used a calculator to find the product 0.075 x 2.56. She forgot to 
enter the decimal points. The calculator showed 19200. If Beena had 
entered the decimal points correctly, the answer would have been 

(a) 0.0192 
(b) 0.192 



(c)1.92 
(d) 19.2 

8.What is the value of x if - 3x + 2 - 7? 
(a)x-6(b)x-3 (c)xz 3(d)x 6 

9.Euler's formula for any polyhedron, where F is the no. of faces, V stands 
for no. of vertices and E stands for no. of edges is 
(a). F+V~E 2 (b) F-V+E 2 (c) F+V-E 2 (d) F-V-E 2 

1O.The value of refrigerator which was purchased 2 years ago depreciates 
at 12 % p.o. If its present value is Rs.9680, for how much was it 
purchased? 

(a) Rs.7497 (b)Rs.8519 (c) Rs.12500 (d)Rs.11000 

11. Which of the following is the correct formula? 
(a) profit% CP*100/Loss 

(b) profit%Loss*100/CP 

(c) profit% Prof it*100/CP 
(d) none of these. 

12.If + stands for 'division', x  stands for 'addition', - stands for 
'multiplication' and stands for 'subtraction', then which of the following 
equations is correct? 
(a)36x6+72-62O 
(b)366+35-345 
(c)36+6-3x5324 

(d)36-6+3%5 374 



2. 
13.Which polynomial repr€.sents (3x + x- 4)(2x- 5)? 

(a) 6x - 13x2  - 13x- 20 (b) 6x - 13x - 13x+ 20 

(c) 6x + 13x2  3x- 20 (d) 6x + 13x + 3x+ 20 

14.Three ducks and two ducklings weigh 32 kg. Four ducks arid three 
ducklings weigh 44 kg. All ducks weigh the same and all ducklings weigh the 
same. What is the weight of two ducks and one duckling? 
(a) 20 kg. (b) 40 kg. 
(c) 60 kg. (d) 64 kg. 

15.There are twenty people working in an office. The first group of five 
works between 8.00 A.M. And 2.00 P.M. The second group of ten works 
between 10.00 A.M. and 4.00 P.M. And the third group of five works between 
12 noon and 6.00 P.M. There are three computers in the office which all the 
employees frequently use. buring which of the following hours are the 
computers likely to be used most? 
(a) 10.00 A.M. - 12 noon (b) 12 noon - 2.00 P.M. 
(c) 1.00 P.M. - 3.00 P.M. (d) 2.00 P.M. - 4.00 P.M. 

.2. 2 
16.The value of 9x + - 42xy when x 15 and y  3 '5 
(a)636 (b) 576 (c) 386 (d) 456 

17.40% of? + 180 564. 
(a) 960 (b) 860 (c) 950 (d) 850 

18.Which shows 833,000 written in scientific notation? 
(a) 8.33 x (b) 8.33 x  10 
(c) 8.33 x (d) 8.33 x 106, 



19.A duck flew at 18 km per hour for 3 hours, then at 15 km per hour for 2 
hours. How far did the duck fly in all? 
(a)69 km (b) 75 km (c) 81 km (d) 84 km 

20.The sum of the square of two numbers is 3341 and the difference of 
their square is 891.The numbers are 
(a). 25,46 (b).35,46 
(c.)25,35 (d). None of these 

21.Which of the following number is actually divisible by 99? 
(a). 114345 (b).135792 
(c )357240 (d).913464 

22.A girl 5.5 feet long casts a shadow 70 inches long. At the same time a 
telephone pole casts a 314 inches shadow. Which proportion can't be used to 
find the height of the telephone pole? 

(a).(70/5.5) (3 14/x) (b).(70/3 14)z(5.5/x) (c).(x/5.5)(3 14/70) 
(d).(7O/x)(5.5/3 14) 

23. Mohit has to take his meditation every four days. If he fakes it next 
Sunday. how many days will it be before he takes his meditation on another 
Sunday? 

a. 23 b. 25 c. 28 d. 20 

24.The average age of 3 girls is 20 years and their ages are in proportion 
3:5:7, the age of the youngest girl is  

a.8 years 3 months b.6 years 8 months c.12 years d.20years 



25.A 7.00AM, the temperature was -6° F. The temp. was &F- higher at noon. 
Which one of the following expression con be used to calculate the temp. at 

noon? 

a. (-6~8)°F b.(-6-8)°F c.(6+8)°F d.(-8(-6))°F 

26.Radius of a wheel is 0.25 mtrs. How many rounds will take to complete the 

distance of 11 km. 
a. 2800 b. 7006. c.4000 d. 5500 

27. The length of a room is 5/2 times of its breadth. If the perimeter of 
the room is 175 meters find its length. 

a. 62.3 mtrs b. 26 mtrs c. 62.5 mtrs d. 25 mtrs 

28. A steamer goes downstream from one port to another in 6 hours. It 
covers the same distance upstream in 7 hours. If the speed of the stream is 
2 km/hr, find the speed of the steamer in still water. 
a. 26 km/hr b. 25 km/hr c. 24 km/hr d. 23 km/hr 

29. A Bus takes 50 boys. Some of them takes 20 poise tickets and the rest 
of them take 45 Poise tickets. If the total cost of the tickets purchased is 
Rs.20/- How many Boys were there who took the 20 paise ticket. 

a. 8 b. 9 c. 10 d. 11 

30. iSm  

 

- Find the area of the given trapezium. 

-w 8m t- 
a. 135 m sq. b. 138 m sq. c.142 ni sq. d. 150 m sq. 



31.Who won the FIFA women's World player of the year? 

32. Name the world's first hydrogen powered 3-wheeler which was launched 
by Mahindra and Mahindra at the 11th  Auto Expo 2012. 

33.What is the lowest one-day score by 5r1.Lanka in the recently held match 
against south Africa.? 

34.Where quick service cum mobile Medical dispensary was inaugurated 
recently.? 

35. Which company has acquired Bangalore-based event and entertainment 
guide Buzz in town? 

36. Who has been crowned Paritaloons Femina Miss India South 2012? 

37.Which event has been recognised as single-biggest Special Olympics 
event? 

38. Name the person who won Rs.5 crore prize money on television show Kaun 
Banega Crorepati. 

39. Expand NOFN which was recently approved to provide broadband 
connectivity to Panchaycts. 

40. Which Gazal maestro passed away recently? 



41. Which two Indian sports persons is given the Lieutenant Colonel rank by 

theArmy? 

42. Which company bagged a Rs.4,000 crore contract for setting up a 
thermal power plant in Andhra Pradesh from singareni Collieries Company? 

43. Which entrance examination system is all set to go online from next year 
in India as decided by the Central Board of Secondary Education? 

44. Write 4(four)present women Chief Ministers of India 

45.Who was the second President of India? 

46. Who is Governor of Karnataka? 

47. Who is the (Mb) Managing birector of Konkan Railway Corp Ltd? 

48. which of the following Indian cricket players took the highest number of 
wickets in the recently concluded ICC World Cup 2011 along with Pakistan's 
Shahid Afridi? 

a.Yuvraj5ingh 
bZaheer Khan 
c.MunafPatel 
d. Harbhajan Sing 

49.Who is the present Railway Minster/ 

50.Under Indian space programme, the abbreviation GSLV stands for 

(a) Geosynchronous Satellite Launch Vehicle 
(b) Global Satellite Link Vehicle 
(c) Geostationary Solar Light Vehicle 



(d) Geostationary Satellite Link Vehicle 

51.5ome basic steps are needed in agricultural practice. Which of the 
following given as A, B, C, b is the right sequence? 

(1) Preparation of the soi (2) storage (3)harvesting 
(4) adding manure and fertilizers (5) Sowing (6) Weeding (7) irrigation 

(a) 1, 5, 4,  7, 6, 3, 2 (b) 1, 5, 4, 6, 7, 2,3 
(c) 1, 3, 5,  2, 4, 6,  7 (d) 1, 5, 4, 2, 6, 7, 3 

52. The point from where the earthquake originates is called  

a. crust b. earth c. focus d. surface 

53 % of oxygen is present in air. 

a. 23% b. 30% c. 27% d. 2l% 

54. The finest cricket bats are made from the wood of trees known as 

a. cedar b. willow c. seesam d. pine 

55.  is an autobiography of famous dalit writer Omprakash 
Valmiki. 

a. joothan b. uttaron c. dalitjeevanam d. none of these 

0 
56.What will come in place of the question mark (?) in 
sequence? 

ARRANGEMENTS, RRANGEMENT, RANGEMEN,?, NGEM 

(a) RANGEME 

(b) ANGEME 

(c) ANGEMENT 

(d) N&EMEN 

(e) None of these 

the following 



57.Four of the following five are alike in a certain way and so form a 

group which is the one that does not belong to that group? 
(a) Radish 
(b) Orange 
(c) Pear 
(d) Mango 
(e) Apple 

58)If water is called food, food is called drink, drink is called blue, blue 
is called red, red is called white and white is called brown, then what is 
the colour of blood? 

(a) Blue 
(b) Red 
(c) Brown 
(d) White 
(e) brink 

59.In a certain code language, the word ENQUIRY is written as 
YRIUQNE. How will the word REQUIRE be written in the 
code language? 

(a) QERUERI 
(b) REQUERI 
(c) ERIUQER 
(d) IREUQER 
(e) None of these 

60.A is 40 m South-west of B. C is 40 m South-East of B. Then C is in which 
direction of A? 
(a) South (b) West (c) Northeast 
(d) East 

61.5onu remembers that Kobir's birthday falls after 20th  May but before 
28" May, while Priya remembers that Kabir's birthday falls before 22nd  May 
but after 12Th  May. On what date Kabir's birthday falls? 
(a)2Oth May (b) 21st  May Cc) 22 May(d) 12th  May 



62.Tree: Ground as Chimney:? 
(a) Smoke (b) Brick (c) Sky (d) House 

63.A, B, C, b, E, F and G are members of a family consisting of four adults 
and three children, two of whom, F and & are girls. A and b are brothers and 
A is a doctor. E is an engineer married to one of the brothers and has two 
children. B is married to b and G is their child. Who is C? 

(a) &s brother (b) F's father 
(c) E's daughter (d) A's son 

64.Anita passed around a basket of strawberries to the girls at her party. 
Before the party she ate 5 strawberries and gave a friend 3. Eight girls 
arrived at the party. The first girl took a strawberry, the second girl took 3 
strawberries, the third girl took 5 strawberries and so on. After the last 
girl took her strawberries, the basket was empty. How many strawberries 
were there in the basket at the beginning? 

(a) 72 (b) 60 (c) 65 (d) 45 

65. In the following series, which number will replace the question mark? 
0,6,24,60,120,210,? 

a. 336 b.343 c.300 d.332 

66."If some Smaugs are Thors and some Thors are Trains, then some 
5maugs are definitely Trains." This statement is  

a. True b. False c. Can't be determined d. None of these 

67.Find the odd one out: 

RZFNE 

a.B b.Z c.E d.N 

68.Choose from the four diagrams, the one that best illustrates, the 
relationship among three given classes. BU5,SCOOTER,CONVEYANCE. 

a. o b.Gc. d. 



73.Fin. the missing characte 

5 3 7 

69.5een through a mirror, the arms of a clock shows 8:50. What is the 
actual time? 

a. 4:10 b. 3:10 c. 9:45 d. 10:15 

70.Choose the word which is different from the words given below: 

a. Zebra b. Lion c. Tiger d. Horse 

71.Chef is related to food in the same way as Judge is related to  

a. Court b. Lawyer c. Crime d. Justice 

72. If "fee see pee" means "drink fruit juice"; "see kee lee" means "juice is 
sweet" and "lee ree mee" means "he is intelligent" , which word is that 
language means "sweet"? 

a. see b. kee c. lee d. pee 

4 

a.25 b.37  

6 5 

c.41 d.47 

74.A printer numbers the pages of a book starting with 1 and uses 3189 
digits in all. How many pages does the book have? 

a. 1000 b.1074 c.1075 d.1080 

75.If 7*164  and  3*9144  What is the value Of 5*6? 

ci. 121 b. 30 c. 100 d. 64 

76. Arrange the given words in alphabetical order and write that comes in 

first place. 

a. music b. mint c. mink d. multiple 



c. 

-80 

fig. X 

a. 

fig. X 

a. 

77. What is the smallest no. of ducks that could swim in this formation: '1tw0 

ducks in front of a duck iwo cucks behind a duck a duck in between two 
ducks"? 

a.7 b.5 c.2 d.3 

78. A train always has  

a. Engine b. Platform c. Passengers d. None of these 

79 and 80.(directions)- In each of the following questions, there is a figure 
'X' with one dot placed in it. This figure is followed by three other figures 
only one of which is such as to make possible the placement of the dot 
satisfying the same conditions as in the figure X. Find the correct answer 
figure in each case. 

81. Indian Railways comprises of No.of Zonal Rafiways: C xcJde RI,>'.) 

a. 16 b. 12 c. 11 d.9 

82.Th which year was the first Train run in India? 

a. 1851 b. 1852 c. 1853 d. 1854 



83. In addition to the Indian Railways, how many states are partners in the Konkan 
Railway Corporation Lim ted? 

a. 2 b. 3 c.4 d.5 

84. Expand RVNL, CONCOR, RbSO and bFC. 

85. SLR is attached to and Brake van is attached to 

Train? 

86. Which trains runs from bestination to bestination without halt? 

87. Which under sea train joins the continents together? 

88. BRICS stands for.? 

89. Who was the chief leader of the LOKPAL movement? 

Change the gender. (questions 90-94) 
90.Gentleman -  
91.bog -  
92.Horse -  
93.5tag -  
94.Ox -  

Write the plural form of the following words. (95-98) 
95. Mine - 
96. Elf -  

97. Volcano -  
98. bozen -  

Write suitable adjectives:- (99-100) 

99. an Idea l 
100.You cannot have it ways. 
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